Geometry Team Challenge – 6.G.2

Computing Volume Progression 1

a. Amy wants to build a cube with 3 cm sides using 1 cm cubes. How many cubes does she need?
[image: Description: Size_3_cube_52c635d0f67fe912d329c838ace0dfd8]
b. How many 1 cm cubes would she need to build a cube with 6 cm sides?


Computing Volume Progression 2

1. Amy has a fish tank shaped like a rectangular prism that is 20 cm by 20 cm by 16 cm. What is the volume of the tank?
[image: Description: Cube_20x20x16_f55f082122637c0875aa57af83b1db04]
1. If Amy only fills the tank 3/4 of the way, what will be the volume of the water in the tank?






Computing Volume Progression 3
[bookmark: _GoBack]A rectangular tank is 50 cm wide and 60 cm long. It can hold up to 126 ℓ of water when full. If Amy fills 2/3 of the tank as shown, find the height of the water in centimeters. (Recall that 1 ℓ=1000 cm3.)[image: Description: Partially_filled_tan_0d66da946a82c1025aee5f8c0894fe8e]


Computing Volume Progression 4

A rectangular tank is 24 cm wide, and 30 cm long. It contains a stone and is filled with water to a height of 8 cm. When Amy pulls the stone out of the tank, the height of the water drops to 6 cm. Find the volume of the stone.
[image: Description: Partially_filled_tan_ae367aa04680dea01244141b07daf80f]





image1.jpeg




image2.jpeg




image3.jpeg




image4.jpeg




